Quotient Rule
Theorem (OpenStax §3.6 Pg. 255)

< The messiest derivative rule!

- {f(X)] | F()e(x) —F()e'(x)
dx | g(x) ' [g(x)]?
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Quotient Rule
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Apply the quotient rule to k(x) =
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Apply the Quotient Rule

(1 i)

What is the derivative of f(x) =

L f)==3

2T () = —% L
3. ix== N

4. f does not have a derivative at x = 2.
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The Trigonometric Functions sin and cos

Question

How are sin(x) and cos(x) related?
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OpenStax §1.3 Fig 1.31
(x,y) = (cos(6),sin(0)) sin?(0) + cos2(9) =1
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Tangents to the sin Curve

Notes

4

y

Y
y = sin(x) with important points highlighted
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Tangents to the sin Curve
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Y
y = sin(x) with tangent lines at important points
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Tangents to the sin Curve
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(32, —1)

y
y = sin(x) with derivative curve
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Tangents to the sin Curve

i
2 Jsin(x)] = cos(x)
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What Can the Derivative Rules Do?

Which of the following derivatives can we NOT compute?
(Assuming the derivative rules we have so far.)

1 f(x)=x3+2x+1 v

- . \
2.(8(x) = v2x+3)——0\ whtr
3. h(x) = =7 v

4. i(x) = xsin(x) \/
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